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Firstly, a little background on who we are and why we’re talking to you about your reports.
The Patient Survey Co-ordination Centre co-ordinates a number of national patient and service user surveys on behalf of the Care Quality Commission – or CQC – which is the independent regulator for health and adult social care in England. The actual nuts and bolts of carrying out the Inpatient Survey (mailing out questionnaires, getting the answers from the returned questionnaires into the computer…) are dealt with either by your contractor or your trust itself, and we’re the next level up. We deal with the methodology of the survey and any issues that arise from trusts and contractors; and in particular, the data comes in to us to do the analysis and produce the reports you get from the CQC. 
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This year, those reports will be a document of “unweighted” frequency tables and a benchmark report (together with supporting technical and FAQ documents). 

Considering firstly the frequency tables. As in previous years, each frequency table gives a straight-forward breakdown of how the respondents in your trust have answered a particular question: the exact number and corresponding percentage who selected each answer. Note this is unweighted data: nothing has been done to make the numbers more comparable between trusts. This report will not be published – it is for your own organisation’s use.

 The benchmark reports, on the other hand, use ‘standardised data’ and answers to each question are also turned into scores. Don’t worry – we’ll explain more about what this means and how this is done in the following slides. The point of doing this is that your data can be compared with other trusts allowing you to see how you are performing relative to other trusts.

 These benchmark reports as well as a report on the national results will be published online on 16th April.
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Your benchmark report is the same style this year as last year, but with some small improvements. For example, we’ve added some text to the graphs to make it clearer if your trust is performing better or worse than most other trusts. In the example you can see that this trust is performing better than most other trusts for questions 7 and 8. For questions 3, 4, 6 and 9 they are performing about the same – so while for Q4 it looks as if the diamond is lying on the line, the lack of ‘better’ or ‘worse’ text makes it clear that this score is in fact about the same as most other trusts.
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In the tables at the end of the report we’ve also included your score from last year, together with a clear indication of whether your score for this year is statistically significantly different to your score last year (the up and down arrows). When I say statistically significantly different, what I mean is whether we can be confident that this year’s score is truly different from your score last year, and the change has not just arisen by chance because we’ve only surveyed a sample of patients each year.

To help you with understanding these reports, I’m going to talk a little bit now about how we calculate your trust score. Following that, Sheena is going to talk about how the red, orange and green zones in the graphs are calculated and what they mean. 
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Q12* From the time you arrived at the hospital, did 

you feel that you had to wait a long time to get to a 

bed on a ward?

% Number

Yes, definitely

8.54

38

Yes, to some extent

15.28

68

No

76.18

339

Total specific responses

100.00

445

Missing responses

.00

10

Answered by all

*Q12 in 2011 core questionnaire, in 2012 this is Q9.


To explain how we turn the data for each question into a score out of ten, let’s follow an example of one question for one trust. Q12 in the survey in 2011 asked patients “From the time you arrived at the hospital, did you feel that you had to wait a long time to get to a bed on a ward?” (This is question 9 in this year’s survey.) The table here should be familiar to you – it’s like the ones in the frequency table report given to your trust. 

 Looking at this table, we can see the number of patients in a particular trust that answered ‘Yes, definitely;’ Yes, to some extent;’ and ‘No’ and the corresponding percentages.

 In order to get from these figures to an overall score for the trust for this question, first we make the comparison between trusts fair by standardising (or weighting) the number of responses.


[image: image7.emf]Step 1: standardise/weight 

the data



[image: image8.emf]Why do we need to standardise/ 

weight data?

•

We know that certain groups of people 

answer differently, for example:

•

Patients who are admitted as an emergency tend to 

be more negative than planned admissions

•

Females tend to be more negative than males

•

Younger people tend to be more negative than 

older people 


“Standardisation” and “weighting” will be used interchangeably here, although they mean different things. Standardisation is about the result that we’ll get at the end – it’s the general term for giving everyone a standard score which allows us to compare trusts with different demographic profiles in a fairer manner. Weighting is about the process – it’s a statistical technique we use here to standardise data. 

 We know that certain groups of people tend to answer differently – for instance, older patients tend to report more positive experiences than younger patients.
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•

If we didn’t standardise the data, some trusts 

would get better results purely because they 

have a greater proportion of the more 
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•

So to make the results fairer we ‘standardise’ 

all trusts to the national average


It wouldn’t be a fair comparison between two trusts if we didn’t take this into account: otherwise a trust with more older patients might perform better just because of its demographic profile. 

 In order to make the comparison fair, we give each respondent a “weight” so that the final score is produced as if each trust had the same demographics. You can think of “weighting” in the more common sense of the word: we give some scores more weight and some scores less weight, as in the following example…
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Weighting group  National  results  201 1   (%)  Example  Trust   (%)  Standardisation  Weight (=nat  average/trust)  

Emergency  admission     

Men  18 - 35  1.8  2.4  0.744  

Men 36 - 50  3.2  2.9  1.131  

Men  51 - 65  7.2  9.7  0 . 745  

Men 66+  15.8  18.9  0 . 837  

Women  18 - 35  3.3  4.6  0.710  

Women 36 - 50  4.1  5.3  0.777  

Women  51 - 65  6.3  4.6  1.375  

Women 66+  17.4  19.1  0.909  

Planned admission     

Men  18 - 35  0.9  1.3  0.713  

Men 36 - 50  1.9  0. 9  2.200  

Men  51 - 6 5  5.3  2.2  2.431  

Men 66+  10.1  8.8  1.152  

Women  18 - 35  1.9  1.5  1.251  

Women 36 - 50  4.0  4.0  1.017  

Women  51 - 65  6.6  5.9  1 .106  

Women 66+  10.2  7.9  1.260  

Total  100%  100%   

     

Men 36-50:

3.2.../2.9... 

= 1.131

Creating the standardisation weights


Given what we said earlier about how respondents may answer differently according to their age, sex, or type of admission, we create weights which allow us to adjust for any variation in responses arising from differences in the proportion of these groups in each trust. This means that all trusts are scored as if they had the national average proportions. In order to do this, we don’t change the responses anyone gives, but we do change the weight we give to the responses – we have to give more weight to underrepresented groups and less weight to overrepresented groups.

The first step is to divide respondents up into the sixteen groups listed in the left-hand column. For the most part, the information needed to do this is taken from the answers people give to the questions in the questionnaire itself. However, in some cases where data is missing, for instance if age or sex is missing, we can supplement this with sample information, if available. 

We calculate these proportions using data from all trusts pooled together to get the ‘national’ proportion (column 2 in the above table). The word ‘national’ is used loosely here as we’re using the respondent population, rather than the entire population of England. We also calculate the proportions for each trust – we can see these for an example trust in column 3 in the above table. 

Once we’ve got the national and individual trust proportions we can then create the weights. The fourth column shows the weight assigned to each group. These are calculated by dividing the desired proportion (the national one) by the actual proportion (the trust one). If the desired proportion is *bigger* than the actual proportion, the weight is going to be greater than 1; if the desired proportion is *smaller* than the actual proportion, the weight is going to be less than 1. 

 Take men aged 36-50 who were admitted as an emergency. They are slightly under represented in the example trust shown in the above table: only 2.9% of respondents belong to this group, rather than the national 3.2%. So we need to boost the importance of their answers – we assign them a weight of 3.2.../2.9..., which is 1.131, i.e. slightly greater than 1. 

In other words, we’re trying to change the number of people responding so that it fits the demographic profile, while still bearing in mind what their answers were.
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% Number

Yes, definitely

7.53 33.59
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14.01 62.47
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% Number

Yes, definitely

8.54 38

Yes, to some 

extent

15.28 68

No

76.18 339

Total specific 
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100.00 445

Missing 
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.00 10

Answered by all

Applying the weights


Going back to the frequency table, we can see on the left the unstandardised data (the exact number of responses given) and on the right the standardised data (what the number of responses would be if this trust had the exact same proportions as the national average). 

 Looking at the table of standardised data: The number against each response is now the sum of the weights for everyone that said e.g. ‘Yes, definitely’ etc. The total number of respondents is now the sum of each person’s weight (this is 445.84 looking at the above table). You can think of the table on the left as being if everyone has a weight of one, and so counting them up is exactly the same as summing one for each person. On the right, however, the number of respondents picking each option is no longer a whole number, which looks a bit odd but is a natural consequence of standardisation. 

 You can see that the number selecting “Yes, definitely” has gone down and the number selecting “No” has gone up. We haven’t changed anyone’s answer, but this reflects that some of the people saying “Yes, definitely” have been given smaller weights and some of the people saying “No” have been given bigger weights. 
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The next step is to give scores for each response option
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Q12 From the time you arrived at the hospital, did you 

feel that you had to wait a long time to get to a bed on a 

ward?

Trust A Trust B

Yes, definitely 9% 18%

Yes, to some extent 15% 6%

No 76% 76%


There are different ways to look at the data. You can look just at the best possible answer – dividing responses into “Good” and “Room for improvement” – or just look at the worst – as in the QRP (Quality Risk Profile) reports, which are intended to flag serious problems. Each way of looking at the responses gives you different information, and for comparing trusts’ overall performance, we want to take into account all the different response options.

 This slide gives an example of two trusts that look exactly the same if you just look at the proportion giving the best answer, yet look very different if you just look at the proportion giving the worst answer. 

 If you’re interested in comparing these methods in more detail, there’s a paper by Steve Sizmur on the Picker Institute website: “The reliability of trust-level survey scores: a comparison of three different scoring models”
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You can find the scored questionnaire on the NHS surveys website. We only score questions that can be seen as rating some aspect of the service – so you can see from the above example that we don’t score the question “Were you ever in any pain?” For scored questions, we give the best answer a score of 10 and the worst a score of 0; intermediate options are scored with equal spacing, so a question with three options gets scored 0, 5, 10, and a question with four options gets scored 0, 3.3, 6.7, 10. 
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To score the data simply multiply the 

standardised data by the score, add together, 

then divide by the base:

Q12 From the time you arrived at the hospital, did you feel that you  

had to wait a long time to get to a bed on a ward?

3810.25/445.85 = 8.546 

-> So Q12 has a score of 8.5 out of 10

Scoring the data

Weight-

adjusted 

number Score

(Weight adjusted 

number*Score)

Yes, definitely

33.59

x

0 = 0.00

Yes, to some extent

62.47

x

5 = 312.35

No

349.79

x

10 = 3497.90

Total

445.85 3810.25


Finally, we put all this information together to get a final score. 

 This question has the scores 0 (Yes, definitely), 5 (Yes, to some extent), 10 (No). To get the score you simply multiply the (standardised) number of people giving each response by the score for that response, then add that together. Dividing this by the (standardised) number of responses gives us the final score: 8.5 out of a possible 10. 
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•

Scored data, but scores out of 100, rather 

than 10

•

5 questions:

•

Q32 Were you involved as much as you wanted to be in decisions 

about your care and treatment?

•

Q34 Did you find someone on the hospital staff to talk to about 

your worries and fears?

•

Q36 Were you given enough privacy when discussing your 

condition or treatment?

•

Q56 Did a member of staff tell you about medication side effects to 

watch for when you went home?

•

Q62 Did hospital staff tell you who to contact if you were worried 

about your condition or treatment after you left hospital?

•

Mean of the scores for the 5 questions


CQUIN is also based on scored data, but scores are out of 100, rather than out of 10. The methodology is exactly the same however. Five questions make up your CQUIN score as detailed above. Scores are calculated for each of the five questions and then the mean score is calculated, which is your final CQUIN score. 
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Now let’s look at the benchmark graphs and tables again in a little more detail. 

There are graphs at the front of the report. 
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These graphs show the lowest score for any trust, the expected range for your trust, your trust score and the highest score for any trust.
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And tables at the back.

The tables at the back show your score, the lowest trust score achieved, the highest trust score achieved, the base (ie the number of patients responding to the question) and the score from last year. The up or down arrow shows whether your score is significantly different from your score last year. 
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The data in the benchmark graphs is the same as that provided on the CQC website (the “badge” scores).
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With each section of the graph corresponding to the “badge” on the CQC website.
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[image: image24.png]How to use benchmark data
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One of the principle aims of the benchmark report is to show where your trust sits in comparison to all other trusts in the survey.  Is your trust doing particularly well or badly or are you “about the same” as other trusts.

It is not necessary to survey every single patient in your trust to get a good idea of what your patients think about their care.  Instead you can draw a “sample” of patients which should provide a representative view of all patients at your trust.

Because we do not survey all patients we need to be aware that the sample may not provide exactly the same score as if all patients were surveyed.   
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If we take as an example three very similar trusts with roughly the same numbers of patients responding (and making the assumption that all patients have very similar views on their care).  In this situation we would not expect that each trust achieves exactly the same score (as in line 1 above).  The probability of this happening is extremely small.  

It’s far more likely that the trusts would achieve similar but not identical scores (like line 2 above).

If, however, we were to get the scores in line 3, we could be fairly sure that the patient experience in trust C is different from that in the other two trusts.
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If we now take the example of around 100 trusts, again making the assumption that their sample sizes are approximately the same and their patients have a similar view of the care they have received.  Once again we would not expect each sample to provide exactly the same question score – there will always be some variance.

When you draw a large number of samples from the same population (we are assuming that all patients from all the above trusts are the same population) the frequency with which you achieve certain scores will be distributed a little like the chart above (this is called a normal distribution).   This creates a bell curve where we can see how frequently each score is achieved. 
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With a normal distribution,  we can calculate something called a “standard deviation”.  From the chart above, we can see that 95% of all scores fall within “2 standard deviations” of the mean (or average).  In other words, in 95 cases out of 100 any scores sitting outside of this distribution will be “significantly” different from the mean.  In other words, any trusts with a score outside of this distribution are highly probable to be displaying a ‘real’ difference from other trusts.  
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The more responses you achieve for a question the steeper the bell curve.    

For example, if 1000 people respond to a survey question we can have more ‘confidence’ in in their answers (ie 2 standard deviations from the mean will be narrower) than if only 50 people respond.    
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The above chart is for illustration only (this is not actual Inpatient data!)

This is a funnel plot.  We use the funnel plot to create the benchmark graphs.  The number of patients responding to the question is shown along the x-axis and the score is shown on the y-axis.  The funnel plot shows the average (the black line down the middle) and the dotted line shows the 95% confidence interval.  The distance between the dotted lines and the average is 2 standard deviations (on either side).  The lower the base size the greater the distance between the average and the 95% confidence interval.  The funnel starts wide and then becomes narrower as the base size becomes bigger. 

To illustrate how the benchmark graph is created we will look at the score highlighted in red (this will be our example trust).
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Rotate the chart.
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We can see that the example trust sits to the right of the average within its ‘expected range’ (2 standard deviations either side of the mean).  The extremes of the graph are shown by the best and worst performing trusts on this particular question.  Note that the width of the red and green sections is dependent on the best and worst scores and not the number of trusts which are worse than average (4 in the above case) or better than average (3 in the above case).
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So the funnel plot will end up looking something similar to the following graph.
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Now here are some issues that can arise because of the way the graphs are constructed. These are not errors, and can be easily explained. 

Sometimes it will look like a trust score is exactly on the line between the orange and the green or the orange and the black.  The diamond will not be exactly on the line, but the difference is hard to show visually.  Where the word “Better” or “Worse” is displayed this shows that you are significantly better or worse than most other trusts.  Where the score is on the line and no text is shown, your trust is ‘about the same’ as most other trusts. 

The next two questions will be dealt with in the next graph.
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First, let’s deal with the issue where a trust does not have any red in their graph.

We can see from the above that trust A has a low base size and, consequently, it’s ‘expected rage’ is very broad, so broad that it extends further than the worst score achieved.  This is why no red will appear on this trust’s graph for this particular question.  

Now let’s deal with the issue where two trusts have the same score but their graphs look different.  Let’s assume that trust A and B have the same score for this particular question but as you can see, trust A’s score is in the orange and trust B’s score is in the green.

Again, this will be due to differences in base size.  Trust A has such a wide ‘expected range’ that its score sits in the orange.  Trust B has a bigger base size and consequently a narrower ‘expected range’ and as a result it’s score sits in the green.    
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Now we’ll look at some actual Inpatient data.  The above graph shows the spread of responses to Q43 (note that Q43 relates only to patients who have had an operation).  Each dot represents a trust score and we will look in particular at the 2 dots (or trusts) highlighted in green.  Both have a score of 8.7 but now let’s see how these are represented in the benchmark charts.  
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Note the very small base size of the first trust; only 43 patients have responded to the question this is because very few patients have had an operation at this trust.  Its graph shows only it’s ‘expected range’ which is so broad that it extends further than either the worst or best score for this question.  The second trust has a larger base size and as a result a much narrower expected range which falls within the worst or best scores (so the red and green bands are displayed on this graph).

In other words, the base size of the first trust is so small that it is not particularly meaningful to try and compare it with other trusts.  The data is, however, still useful to the trust in its own right (it shows that amongst this small group, most patients have received an explanation for what would be done during their operation or procedure).  
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If you’re within the expected range for the majority of questions, it’s not unreasonable to look for the ones where you have a slightly lower observed score, to start trying to improve, even if that’s not a significant difference. Also look at the distance between your score and the highest score for any trust, because those are the ones where there may be the most room for improvement – where there are examples of other trusts doing vastly better on that item, it’s worth thinking about why that might be and what could be done to try and change your score. Where the observed range is narrower, there might be less scope for change.

 The orange band identifies usual performance – if you’re outside the orange band, you’re doing unusually well or unusually badly. Statistically, the vast majority of trusts will be within the orange band for a particular question, that’s just how the bands are constructed. If you are in the red or green, that’s a big sign that something is different. However, if you remove all the colours and just look at the score, see how different the score is from the highest achieved score and think how different that score is from the highest possible score (10) – this lets you ask if you’re really doing the best you can in this area for your patients. Maybe that difference is a bit too large for comfort. 

Remember you also have the breakdown for your trust on how people are answering these questions. This is a guide on how you compare nationally to other trusts, but you can also go back to the frequency tables, the data itself. This is just one of the tools you have for understanding how your trust is doing on a given issue. 
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Creating scored data – an example

		Q12* From the time you arrived at the hospital, did you feel that you had to wait a long time to get to a bed on a ward?				

				 %		Number

		Yes, definitely		8.54		38

		Yes, to some extent		15.28		68

		No		76.18		339

		Total specific responses		100.00		445

		Missing responses		.00		10

		Answered by all				



*Q12 in 2011 core questionnaire, in 2012 this is Q9.





To explain how we turn the data for each question into a score out of ten, let’s follow an example of one question for one trust. Q12 in the survey in 2011 asked patients “From the time you arrived at the hospital, did you feel that you had to wait a long time to get to a bed on a ward?” (This is question 9 in this years survey.) The table here should be familiar to you – it’s like the ones in the frequency table report given to your trust. 

 

Looking at this table, we can see the number of patients in a particular trust that answered ‘Yes, definitely;’ Yes, to some extent;’ and ‘No’ and the corresponding percentages.

 

In order to get from these figures to an overall score for the trust for this question, first we make the comparison between trusts fair by standardising (or weighting) the number of responses.
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Q12 From the time you arrived at the hospital, did you feel that you had to wait a long time to get to a bed on a ward?

Unstandardised data

Standardised data

So how does the above become a score of 8.5?

				 %		Number

		Yes, definitely		7.53		33.59

		Yes, to some extent		14.01		62.47

		No		78.45		349.79

		Total specific responses		100.00		445.84

		Missing responses		.00		9.16

		Answered by all				



				 %		Number

		Yes, definitely		8.54		38

		Yes, to some extent		15.28		68

		No		76.18		339

		Total specific responses		100.00		445

		Missing responses		.00		10

		Answered by all				



Applying the weights





Going back to the frequency table, we can see on the left the unstandardised data (the exact number of responses given) and on the right the standardised data (what the number of responses would be if this trust had the exact same proportions as the national average). 

 

Looking at the table of standardised data: The number against each response is now the sum of the weights for everyone that said e.g. ‘Yes, definitely’ etc. The total number of respondents is now the sum of each person’s weight (this is 445.84 looking at the above table). You can think of the table on the left as being if everyone has a weight of one, and so counting them up is exactly the same as summing one for each person. On the right, however, the number of respondents picking each option is no longer a whole number, which looks a bit odd but is a natural consequence of standardisation. 

 

You can see that the number selecting “Yes, definitely” has gone down and the number selecting “No” has gone up. We haven’t changed anyone’s answer, but this reflects that some of the people saying “Yes, definitely” have been given smaller weights and some of the people saying “No” have been given bigger weights. 
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This year, those reports will be a document of “unweighted” frequency tables and a benchmark report (together with supporting technical and FAQ documents). 

 

Considering firstly the frequency tables. As in previous years, each frequency table gives a straight-forward breakdown of how the respondents in your trust have answered a particular question: the exact number and corresponding percentage who selected each answer. Note this is unweighted data: nothing has been done to make the numbers more comparable between trusts. This report will not be published – it is for your own organisation’s use.

 

The benchmark reports, on the other hand, use ‘standardised data’ and answers to each question are also turned into scores. Don’t worry – we’ll explain more about what this means and how this is done in the following slides. The point of doing this is that your data can be compared with other trusts allowing you to see how you are performing relative to other trusts.

 

These benchmark reports as well as a report on the national results will be published online on 16th April.
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Why do we need to standardise/ weight data?

We know that certain groups of people answer differently, for example:

Patients who are admitted as an emergency tend to be more negative than planned admissions

Females tend to be more negative than males

Younger people tend to be more negative than older people 







“Standardisation” and “weighting” will be used interchangeably here, although they mean different things. Standardisation is about the result that we’ll get at the end – it’s the general term for giving everyone a standard score which allows us to compare trusts with different demographic profiles in a fairer manner. Weighting is about the process – it’s a statistical technique we use here to standardise data. 

 

We know that certain groups of people tend to answer differently – for instance, older patients tend to report more positive experiences than younger patients.
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 Why do we need to score the data?

Q12 From the time you arrived at the hospital, did you feel that you had to wait a long time to get to a bed on a ward?

				Trust A	Trust B

Yes, definitely		9%		18%

Yes, to some extent		15%		6%

No				76%		76%





There are different ways to look at the data. You can look just at the best possible answer – dividing responses into “Good” and “Room for improvement” – or just look at the worst – as in the QRP (Quality Risk Profile) reports, which are intended to flag serious problems. Each way of looking at the responses gives you different information, and for comparing trusts’ overall performance, we want to take into account all the different response options.

 

This slide gives an example of two trusts that look exactly the same if you just look at the proportion giving the best answer, yet look very different if you just look at the proportion giving the worst answer. 

 

If you’re interested in comparing these methods in more detail, there’s a paper by Steve Sizmur on the Picker Institute website: “The reliability of trust-level survey scores: a comparison of three different scoring models”
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 To score the data simply multiply the standardised data by the score, add together, then divide by the base:

Q12 From the time you arrived at the hospital, did you feel that you  had to wait a long time to get to a bed on a ward?











		3810.25/445.85 = 8.546 

-> So Q12 has a score of 8.5 out of 10



Scoring the data

				Weight-adjusted number				Score				(Weight adjusted number*Score)

		Yes, definitely		33.59		x		0		=		0.00

		Yes, to some extent		62.47		x		5		=		312.35

		No		349.79		x		10		=		3497.90

		Total		445.85								3810.25











Finally, we put all this information together to get a final score. 

 

This question has the scores 0 (Yes, definitely), 5 (Yes, to some extent), 10 (No). To get the score you simply multiply the (standardised) number of people giving each response by the score for that response, then add that together. Dividing this by the (standardised) number of responses gives us the final score: 8.5 out of a possible 10. 
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CQUIN

Scored data, but scores out of 100, rather than 10

5 questions:

 Q32 Were you involved as much as you wanted to be in decisions about your care and treatment?

 Q34 Did you find someone on the hospital staff to talk to about your worries and fears?

 Q36 Were you given enough privacy when discussing your condition or treatment?

 Q56 Did a member of staff tell you about medication side effects to watch for when you went home?

 Q62 Did hospital staff tell you who to contact if you were worried about your condition or treatment after you left hospital?

Mean of the scores for the 5 questions







CQUIN is also based on scored data, but scores are out of 100, rather than out of 10. The methodology is exactly the same however. Five questions make up your CQUIN score as detailed above. Scores are calculated for each of the five questions and then the mean score is calculated, which is your final CQUIN score.

16



image1.jpeg

0000

picker

Institute Europe

Making patients' views count








cauin

- Scoreg data, but scores out of 100, rather
than 10

- 5 questions:

- Meanof the scores for the 5 questions Pid






A scored version of the questionnaire is available on the NHS surveys web site





What are the scores for each question?





You can find the scored questionnaire on the NHS surveys website. We only score questions that can be seen as rating some aspect of the service – so you can see from the above example that we don’t score the question “Were you ever in any pain?” For scored questions, we give the best answer a score of 10 and the worst a score of 0; intermediate options are scored with equal spacing, so a question with three options gets scored 0, 5, 10, and a question with four options gets scored 0, 3.3, 6.7, 10. 
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Step 2: Score the data





The next step is to give scores to each response option. 
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Step 2: Score the data






What would happen if we didn’t standardise/weight the data?

If we didn’t standardise the data, some trusts would get better results purely because they have a greater proportion of the more positive groups (and vice versa)

So to make the results fairer we ‘standardise’ all trusts to the national average







It wouldn’t be a fair comparison between two trusts if we didn’t take this into account: otherwise a trust with more older patients might perform better just because of its demographic profile. 

 

In order to make the comparison fair, we give each respondent a “weight” so that the final score is produced as if each trust had the same demographics. You can think of “weighting” in the more common sense of the word: we give some scores more weight and some scores less weight, as in the following example…
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Men 36-50:

3.2.../2.9... = 1.131

Creating the standardisation weights







Given what we said earlier about how respondents may answer differently according to their age, sex, or type of admission, we create weights which allow us to adjust for any variation in responses arising from differences in the proportion of these groups in each trust. This means that all trusts are scored as if they had the national average proportions. In order to do this, we don’t change the responses anyone gives, but we do change the weight we give to the responses – we have to give more weight to underrepresented groups and less weight to overrepresented groups.



The first step is to divide respondents up into the sixteen groups listed in the left-hand column. For the most part, the information needed to do this is taken from the answers people give to the questions in the questionnaire itself. However, in some cases where data is missing, for instance if age or sex is missing, we can supplement this with sample information, if available. 



We calculate these proportions using data from all trusts pooled together to get the ‘national’ proportion (column 2 in the above table). The word ‘national’ is used loosely here as we’re using the respondent population, rather than the entire population of England. We also calculate the proportions for each trust – we can see these for an example trust in column 3 in the above table. 



Once we’ve got the national and individual trust proportions we can then create the weights. The fourth column shows the weight assigned to each group. These are calculated by dividing the desired proportion (the national one) by the actual proportion (the trust one). If the desired proportion is *bigger* than the actual proportion, the weight is going to be greater than 1; if the desired proportion is *smaller* than the actual proportion, the weight is going to be less than 1. 

 

Take men aged 36-50 who were admitted as an emergency. They are slightly under represented in the example trust shown in the above table: only 2.9% of respondents belong to this group, rather than the national 3.2%. So we need to boost the importance of their answers – we assign them a weight of 3.2.../2.9..., which is 1.131, i.e. slightly greater than 1. 

 

In other words, we’re trying to change the number of people responding so that it fits the demographic profile, while still bearing in mind what their answers were.
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Step 1: standardise/weight the data
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Benchmark graphs



 Same style as last year

 Addition of ‘Better’ and ‘Worse’ to indicate where your score is better or worse than most other trusts











Your benchmark report is the same style this year as last year, but with some small improvements. For example, we’ve added some text to the graphs to make it clearer if your trust is performing better or worse than most other trusts. In the example you can see that this trust is performing better than most other trusts for questions 7 and 8. For questions 3, 4, 6 and 9 they are performing about the same – so while for Q4 it looks as if the diamond is lying on the line, the lack of ‘better’ or ‘worse’ text makes it clear that this score is in fact about the same as most other trusts.
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Benchmark tables











 Extra columns and legend





In the tables at the end of the report we’ve also included your score from last year, together with a clear indication of whether your score for this year is statistically significantly different to your score last year (the up and down arrows). When I say statistically significantly different, what I mean is whether we can be confident that this year’s score is truly different from your score last year, and the change has not just arisen by chance because we’ve only surveyed a sample of patients each year.



To help you with understanding these reports, I’m going to talk a little bit now about how we calculate your trust score. Following that, Sheena is going to talk about how the red, orange and green zones in the graphs are calculated and what they mean. 
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